
Securing cargo. We invented the concept.

80
31

95
 2

01
7-

02
-1

3

D/E/144-Series
Flyttbart justerbart glidfäste / Movable adjustable glide attachment

Art.nr 803195



DescriptionBenämningArt.nrPos.
MOUNTING PLATEMONTERINGSPLATTA8007611
UPPER CLAMPÖVERBYGEL8007652
LOWER CLAMPUNDERBYGEL8009813
PLASTIC DISTANCEPLASTDISTANS8030734
WASHER MRM M20 FZBBRICKA BRB M20 FZB2119025
LOCKING NUT LM6M HIGH M20 FZBLÅSMUTTER LM6M HÖG M20 FZB2118616
SCREW M6S M20x120 FZBSKRUV M6S M20x120 FZB2111687
SCREW M6S M12x140 FZBSKRUV M6S M12x140 FZB2110988
LOCKING NUT LM6M LOW M12 FZBLÅSMUTTER LM6M LÅG M12 FZB2118579

Securing cargo. We invented the concept.

80
31

95
 2

01
7-

02
-1

3

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Flyttbart justerbart glidfäste / Movable adjustable glide attachment 
Page 2 

10

62

17
0

17
6

320

260

190

1

2

3

5

6

7

5

7

8

9

4

Åtdrages efter behov / 
Tightened as needed

50 Nm


